Ratio to Pythia 6.428 345

1960 GeV ppbar Top (parton level)
— 1 T 1 " T N R B A

_| | — T T T T T T T T | .

i AQ (ttbar) (dy < 0) _

2 = pE——

1005 6 Pythia 6.428 345 =

o Pythia 6.428 346 -

— —7A— Pythia 6.428 370 —

B Pythia 6.428 ambtl |

10 = - Pythia6.428 71 o

— - Pythia 6.428 z2 =

1 _

107t - _

1072 = (MC_FBA_TTBAR) B

S T S P

2 B E

1 B "”;qfﬁ a3 A Clon BT R A, ]

0.5 — )
| . , . | | | o | | | | | | |

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


